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xUDT =727 CKB £%1T

=0y 4

xUDT RFC it

empty_cell:
lock: xudt_owner_lock(secp256kl, JoyID, etc.)

output:
Example Code UdtRCE I
amount: 21,000,000 * 108 (decimal=8)
type: xudt
lock: xudt owner_ lock

5|'|| -le?'t 7T< [ info_cell:
data: xudt-info (name, symbol, decimal, etc.)
lock:

unlockable lock



https://talk.nervos.org/t/rfc-extensible-udt/5337
https://github.com/ckb-cell/rgbpp-sdk/blob/develop/examples/xudt-on-ckb/1-issue-xudt.ts
https://pudge.explorer.nervos.org/transaction/0xe6e23718e45a9c36136367dfb1c47397a7b3db2ff130a1c062f40c795f0b103d

xUDT &7 CKB 3%t

input:

xudt_cell:
amount: 10,000 * 10”8 (decimal=8)
Example Code type: xudt
lock: xudt_owner_lock(Secp256kl, JoyID, etc.)
output:
xudt _cell:
ﬂ"ifol’* ﬁﬁ I amount: 1000 * 10™8 (decimal=8)

type: xudt
lock: reciver_lock(Secp256kl, JoyID, etc.)

xudt_cell:
amount: 9000 * 1078 (decimal=8)
type: xudt
lock: xudt_owner_lock(Secp256kl, JoyID, etc.)



https://github.com/ckb-cell/rgbpp-sdk/blob/develop/examples/xudt-on-ckb/2-transfer-xudt.ts
https://pudge.explorer.nervos.org/transaction/0x238224236164a74c76550817679914b7cc510740ded11a71d10ba0ac75e19993?addr_format=deprecated
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RGB++ Lock Script £#1#E4544

RGBPP_lock:
code hash:

RGBPP lock code hash
args:
out_index | btc_tx_1d
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utxo#l => commitment, utxo#2

Example Code

input:
rgbpp_cell:
lock:
- —_— RGBPP_lock, utxo#1l
BTC Xz~
output:
rgbpp_cell:

amount: 21,000,000 * 1078 (decimal=8)
type: xudt
lock: RGBPP_lock, utxo#2

rgbpp_cell:
type: unique type
data: xudt-info (name, symbol, decimal, etc.)
lock:
unlockable lock



https://github.com/ckb-cell/rgbpp-sdk/tree/develop/examples/rgbpp/xudt/launch
https://mempool.space/testnet/tx/4195d3a6a77dda49c2d3c56de1ab15c4b8fe94dd62ea76f0b120a0d52224c3f8
https://pudge.explorer.nervos.org/transaction/0x0754ea98168a4895c8886d5d88a184b33245e6ffdaf9441378d0d8ab8aaee86a

RGB++ #5/7f BTC Ei%it

input:
btc_utxo_1
output:
OP_RETURN: commitment

btc_utxo_3
btc_utxo 4

Example Code

input:
rgbpp_cell:
data: 2000 * 10 ~ g
type: xudt
lock:
code: RGBPP_lock
args: btc_utxo_1 = (out_index | previous_btc_tx_1id)

output:
rgbpp_cell:
data: 1500 * 10 "~ 8
type: xudt
lock:
code: RGBPP_lock
args: out_index = 1 | new_bitcoin_tx_1id

T —
CKB %S 74N I rgbpp_cell:

data: 500 * 10 ~ 8
type: xudt
Lock:
code: RGBPP_lock
args: out_index = 2 | new_bitcoin_tx_1id



https://github.com/ckb-cell/rgbpp-sdk/blob/develop/examples/rgbpp/xudt/2-btc-transfer.ts
https://mempool.space/testnet/tx/2070426de01105481cf568d916aeac932921ba190c81ad46bb5b2b3e06bcc262
https://pudge.explorer.nervos.org/transaction/0x556b67bb35119adad293f2b8679ab154d3e1e9473859273cee9cf29b1b4151eb

RGB++ &/~ BTC L@ %

utxo#2 => commitment, utxo#3, utxo#4, utxo#5,

Example Code

input:
rgbpp_cell:
amount: 21,000,000
type: xudt
lock: RGBPP_lock, utxo#2

T —
BTC 'S ZR I output:

rgbpp_cell (utxo#3),

rgbpp_cell:
amount: 1000
type: xudt
lock: RGBPP_lock, utxo#3

S'c —_— rgbpp_cell:
S
CKB = amount: 1000
type: xudt
lock: RGBPP_lock, utxo#4



https://github.com/ckb-cell/rgbpp-sdk/tree/develop/examples/rgbpp/xudt/launch
https://mempool.space/testnet/tx/7ed94f41ddd7a41cfc4ef1288ceb09a89dc3b0a37505938d87a7a5679e048ef8
https://pudge.explorer.nervos.org/transaction/0x5095cd32e7d3a376f06508beed1ea9e9fa6b4a9732658c32017121806c3ed94d

RGB++ &/ Leap (BTC

Example Code

BTC Xz &
CKB X Zz =

-> CKB)

input:
btc_utxo_1

output:
OP_RETURN:
btc_utxo_2

commitment

input:
rgbpp_cell:
data: 2000 * 10 ~ 8
type: xudt
lock:
code: RGBPP_lock
args: out_index | source_tx

output:
rgbpp_cell:
data: 800 * 10 ~ 8
type: xudt
lock:
code: BTC_TIME_ lock
args: lock_script | after | nbw_bitcoin_tx_id

rgbpp_cell:

data: 1200 * 10 ~ 8
type: xudt
lock:

code: RGBPP_lock

args: btc_utxo_2 => out_index=1 | new_bitcoin_tx_1id



https://github.com/ckb-cell/rgbpp-sdk/blob/develop/examples/rgbpp/xudt/3-btc-leap-ckb.ts
https://mempool.space/testnet/tx/637de2fa871f4bc8be9717215ead8fbe9427544edc2516b91914beaa369a2ce5
https://pudge.explorer.nervos.org/transaction/0xc76a4ec531b0f07c413ae5a8659938867704872fe67899a709c1d2e6ba433802

#2551 BTC Time cells

® 0

input:
Example Code btc_time _cell:
type: xudt
lock:

code: BTC _TIME lock
args: lock_script | 6 | btx_tx_1id

output:
xudt_cell:
type: xudt
lock:
lock_script

witness:



https://github.com/ckb-cell/rgbpp-sdk/blob/develop/examples/rgbpp/xudt/4-unlock-btc-time-cell.ts
https://pudge.explorer.nervos.org/transaction/0x8670cc5446b5271edae0837ff48e04e990f08164102704454beefdc1b0817d10

RGB++ &%= Leap (CKB -> BTC) @3

input:
xudt:
data: 2000 * 10 ~ 8

Example Code type: xudt
lock:

ckb_addressl

output:
xudt:
CKB %8 5 =<4l data: 1000 * 10 ~ 8
type: xudt
lock:
ckb_address2

rgb_xudt:
data: 1000 * 10 ~ 8
type: xudt
lock:
code: RGBPP_lock
args: out_index | btc_tx_1id



https://github.com/ckb-cell/rgbpp-sdk/blob/develop/examples/rgbpp/xudt/3-btc-leap-ckb.ts
https://pudge.explorer.nervos.org/transaction/0x9887ae9459e25ec4a89acf2895c3ca100db6b2f4428f732e653b42e9729cac6d

Thanks & QA



